Energy and power of discrete signals
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Energy and power signals

Continuous signals:
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Parseval's theorem for discrete energy signals
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Signal 1 [n] has spectrum X, («) and wa[n] has spectrum Xy (w) ..
‘:F'r‘f g (:3:5 () oo W= e S 0 o, ] = %]
A RN BN ORS o 1o “__Z_;ct«]-m?

D x4 mg Xy e do  TTNT = 2 ]l = E
"‘%’“x (}]Lm f ﬂu) oI cﬂw} s ﬁhx (. X () -0

Z.m%w ("

S kel = — [ X (@) dw

n=—00 21 J—x
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Parseval's theorem for discrete power signals
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Power density spectrum: | S, [k] = N X [k]|?




Energy signal example
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What are E and P?
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Power signal example fo.= g
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